
Name

Score

Convert Celcius to Kelvin.

Example: Convert 25 °C to Kelvin

K = °C  +  273.15

= 25  + 273.15

= 298.15 K

1) 62 °C 2) 83 °C 3) 97 °C

4) 9 °C 5) 60 °C 6) 88 °C

7) 17 °C 8) 20 °C 9) 48 °C

10) 61 °C 11) 80°C 12) 99 °C
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Name

Score

Answer key

Convert Celcius to Kelvin.

Example: Convert 25 °C to Kelvin

K = °C  +  273.15

= 25  + 273.15

= 298.15 K

1) 62 °C

335.15 K

2) 83 °C

356.15 K

3) 97 °C

370.15 K

4) 9 °C

282.15 K

5) 60 °C

333.15 K

6) 88 °C

361.15 K

7) 17 °C

290.15 K

8) 20 °C

293.15 K

9) 48 °C

321.15 K

10) 61 °C

334.15 K

11) 80°C

353.15 K

12) 99 °C

372.15 K
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